
4686 4686.5 4687 4687.5 4688
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

2−

1.5−

1−

0.5−

0

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

5653

5653.5

5654

5654.5

5655

5655.5

5656

5656.5

5657

ru
n

run:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 5655}



4686 4686.5 4687 4687.5 4688
cyclenum

75−

74.5−

74−

73.5−

73−

us
l_

1X
usl_1X:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

3.8−

3.6−

3.4−

3.2−

3−

2.8−

2.6−

2.4−

2.2−

2−

1.8−

1.6−

us
l_

4a
Y

usl_4aY:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

19.5

20

20.5

21

21.5

us
l_

4e
X

usl_4eX:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

19.5

20

20.5

21

21.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

38.4−

38.2−

38−

37.8−

37.6−

37.4−

37.2−

37−

36.8−

36.6−

36.4−

36.2−

us
l_

12
X

usl_12X:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

5653

5653.5

5654

5654.5

5655

5655.5

5656

5656.5

5657

ru
n

run:cyclenum {run == 5655}



4686 4686.5 4687 4687.5 4688
cyclenum

127−

126.5−

126−

125.5−

125−

us
r_

1X

usr_1X:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

3

3.2

3.4

3.6

3.8

4

4.2

4.4

4.6

4.8

5

5.2

us
r_

4a
Y

usr_4aY:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

188.5

189

189.5

190

190.5

us
r_

4e
X

usr_4eX:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

7

7.5

8

8.5

9

us
r_

4e
Y

usr_4eY:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

38.5−

38−

37.5−

37−

36.5−

us
r_

12
X

usr_12X:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

5653

5653.5

5654

5654.5

5655

5655.5

5656

5656.5

5657

ru
n

run:cyclenum {run == 5655}



4686 4686.5 4687 4687.5 4688
cyclenum

18468.5

18469

18469.5

18470

18470.5

us
l_

co
il1

usl_coil1:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

3484

3484.5

3485

3485.5

3486

us
l_

co
il3

usl_coil3:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

4912

4912.5

4913

4913.5

4914

us
l_

co
il4

usl_coil4:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

1879.8−

1879.6−

1879.4−

1879.2−

1879−

1878.8−

1878.6−

1878.4−

1878.2−

1878−

1877.8−

1877.6−

us
l_

co
il6

usl_coil6:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

13603

13603.5

13604

13604.5

13605

us
l_

co
il7

usl_coil7:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

5653

5653.5

5654

5654.5

5655

5655.5

5656

5656.5

5657

ru
n

run:cyclenum {run == 5655}



4686 4686.5 4687 4687.5 4688
cyclenum

24456.4−

24456.2−

24456−

24455.8−

24455.6−

24455.4−

24455.2−

24455−

24454.8−

24454.6−

24454.4−

24454.2−

us
r_

co
il1

usr_coil1:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

4123−

4122.5−

4122−

4121.5−

4121−

us
r_

co
il3

usr_coil3:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

4744.2

4744.4

4744.6

4744.8

4745

4745.2

4745.4

4745.6

4745.8

4746

4746.2

4746.4

us
r_

co
il4

usr_coil4:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

1959.4−

1959.2−

1959−

1958.8−

1958.6−

1958.4−

1958.2−

1958−

1957.8−

1957.6−

1957.4−

1957.2−

us
r_

co
il6

usr_coil6:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

24110

24110.2

24110.4

24110.6

24110.8

24111

24111.2

24111.4

24111.6

24111.8

24112

24112.2

us
r_

co
il7

usr_coil7:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

5653

5653.5

5654

5654.5

5655

5655.5

5656

5656.5

5657

ru
n

run:cyclenum {run == 5655}



4686 4686.5 4687 4687.5 4688
cyclenum

217.8−

217.6−

217.4−

217.2−

217−

216.8−

216.6−

216.4−

216.2−

216−

215.8−

215.6−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

17.4−

17.2−

17−

16.8−

16.6−

16.4−

16.2−

16−

15.8−

15.6−

15.4−

15.2−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

75

75.2

75.4

75.6

75.8

76

76.2

76.4

76.6

76.8

77

77.2

1X
_c

oi
l7

1X_coil7:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

322−

321.5−

321−

320.5−

320−4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

51−

50.5−

50−

49.5−

49−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

84.5

85

85.5

86

86.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 5655}



4686 4686.5 4687 4687.5 4688
cyclenum

293

293.5

294

294.5

295

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

62−

61.5−

61−

60.5−

60−

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

3.6

3.8

4

4.2

4.4

4.6

4.8

5

5.2

5.4

5.6

5.8

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

273.2

273.4

273.6

273.8

274

274.2

274.4

274.6

274.8

275

275.2

275.4

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

87.5−

87−

86.5−

86−

85.5−4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

3.6

3.8

4

4.2

4.4

4.6

4.8

5

5.2

5.4

5.6

5.8

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 5655}



4686 4686.5 4687 4687.5 4688
cyclenum

237.5−

237−

236.5−

236−

235.5−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

86−

85.5−

85−

84.5−

84−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

6.2

6.4

6.6

6.8

7

7.2

7.4

7.6

7.8

8

8.2

8.4

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

468−

467.5−

467−

466.5−

466−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 5655}

4686 4686.5 4687 4687.5 4688
cyclenum

5653

5653.5

5654

5654.5

5655

5655.5

5656

5656.5

5657

ru
n

run:cyclenum {run == 5655}
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